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Mathematics

1. Anish is thrice as old as his son and the sum of their 8. The present age of a man is 4 times the age of his
ages is 48 yr. Find Anish's age. son. After 20 yr, his age will be twice the age of his son,
(RRB Group D 2018) then present age of his son is
(a) 40 yr (b) 12 yr [Delhi Police Constable 2009]
(c) 20 yr (d) 36 yr (a) 10 yr (b) 12 yr
(c) 14 yr (d) 20 yr
2. The difference in the ages of a father and son is 24 yr
now. If 5 yr ago father's age was 3 times the age of son, 9. The present age of Ravi's father is four times the
then what is the son's age now? present age of Ravi. 5 yr back Ravi's father was seven
[MP Patwari 2017] times as old as Ravi was at that time, what is the
(a) 17 yr (b) 18 yr present age of Ravi's father? [CDS 2014]
(c) 19 yr (d) 20 yr (a) 84 yr (b) 70 yr
(c)a0yr (d) 35yr
3. The age of a man after 15 yr will be 4 times the age
of that man 15 yr before. His present age is 10. Three years from now, the age of Dharitri will be
[RRB Group D 2012] eight years less than twice the age of Eunice. The sum
(a) 10 yr (b) 15 yr of their present ages is 61 yr. What is present age of
(c) 20 yr (d) 25 yr Dharitri? (RRB ALP 2018)
(a) 41 yr (b) 39 yr
4.1 am three times as old as my son. 15 yr hence, | will (c) 36 yr (d)43 yr
be twice as old as my son. The sum:of our ages is
[SSC CGL 2011] 11. Seven years from now Virat will be twice as old as
(a) 48 yr (b) 60 yr Mohinder. Five years ago Mohinder’s age was one year
(c) 64 yr (d) 72 yr less than 2/5 of Virat's age What is Virat's present age?
[RRB ALP 2018]
5. A man retired from his service at the age of 60. He (a) 55 yr (b) 51 yr
served for 3/5th yr of his retirement age. He joined his (c) 57 yr (d) 53 yr
job at the age of [SSC MTS 2017]
(a) 20 yr (b) 18 yr 12. Mohit wants to get married after 2 yr of job When
(c) 24 yr (d)36yr he was 15 yr old, he passed class 10th after 10th he
took two years to pass 12th and go through 4 yr
6. Four years ago, Shyam's age was 3/4 times that of graduation course. He got job exactly 1 yr after
Ram. Four years hence, Shyam's age will be 5/6 times completing his 1 yr PG course. At what age will he get
that of Ram. What is the present age of Shyam? married?
(a) 15yr (b) 20 yr (c) 16 yr (d) 24 yr (a) 26 yr (b) 27 yr
7. After 5 yr, the age of father will be thrice the age of (c) 25 yr (d) 24 yr
his son, while 5 yr before, age of father was 7 times the
age of his son. The present age of father is 13. The ratio of the ages of A and B at presentsis 3 : 1.
(a) 35yr (b) 40 yr Four years earlier, the ratio was 4 : 1. Find the present
(c) 50 yr (d) 45 yr age of A. [SSC CPO 2015]
(a) 24 yr (b) 36 yr
(c) 40 yr (d) 44 yr Page | 1
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14. The present age of Rohit and Mohit are 48 yr and
32 yr, respectively. What was the ratio of ages of Rohit
and Mohit 12 yr ago?
[Delhi Police Constable 2017]
(b)9:5
(d)8:5

(a)9:4
(c)6:5

15. The present ages of two persons are 36 and 50 yr,
respectively. If after n yr the ratio of their ages will be
3: 4, then the value of n is

[SSC MTS 2013]
(a) 3 (b) 4
(c)7 (d) 6

16. The ratio between the present ages of Tarun and
Varunis 3:7, respectively. After 4 yr. Varun's age will be
39 yr. What was Tarun’s age 4 yr ago?

(SBI Clerk 2014)

(a) 12 yr (b) 13 yr
(c) 19yr (d) 11 yr
(e) 15 yr

17. The ratio of the ages of two personsiis 4: and age of
one of them is greater than that the other by 30 yr. The
sum of their ages (in years) is

[SSC CGL 2014]
(a) 110
(c) 70

(b) 100
(d) 40

18. The ratio between the present age of Dev and Anu
is 3: 4. After 4 yr, Anu's age will be 40 yr. What was
Dev's age 6 yr ago?
(a) 24 yr
(c) 21 yr

(b) 22 yr
(d) 20 yr

19. At present, the ratio of the ages of Maya and
Chhaya is 6: 5 and fifteen years from now, the ratio will
get changed to 9 : 8. Maya's present age is

[SSC CGL 2011]
(a) 21 yr
(c) 30 yr

(b) 24 yr
(d) 40 yr

20. The ratio of present ages of two boys is 5: 6. After
2 yr the ratio will be 7: 8. The ratio of their ages after

12 yr will be (SSC (10+2) 2013)
(a) 15: 6 (b) 17: 18
(c) 11: 12 (d) 22: 24

21. The sum of the present ages of Varun and Kapil is
42 yr. The ratio of their ages after 5 yr will be 15 : 11.
What is the present age of Kapil?

[RRB ASM 2010]
(a) 17 yr
(c) 25 yr

(b) 24 yr
(d) 22 yr

22. The ages of X and Y are in the ratioof 4 : 7. 3 yr
earlier, the ratio of their ages was 1 : 2. What is the
difference between their current ages (Y-X)?

[RRB ALP 2019]
(b) 7.5 yr
(d)3yr

(@) 9 yr
(c) 6yr

23. The ratio of present ages of P and Qis 7:9. Before
10 yr the ratio of their ages was 5: 7. What is Q's
present age?
(a) 35yr
(c) 25yr

(b) 45 yr
(d) 55 yr

24.7 yr ago, the ages of A and B were in the ratio of 4:
5 and 7 yr, hence they will be in the ratio of 5:6. The

present age of B is [SSC CGL 2010]
(a) 56 yr (b) 63 yr
(c) 70 yr (d) 77 yr

25. The ratio of the ages of Ram and Rahim 10 yr ago
was 1:3. The ratio of their ages five years hence, will be
2: 3. Then, the ratio of their present ages is

[SSC CGL 2011]
(a)1:2 (b)3:5
(c)3:4 (d)2:5

26. The present age of Aditya is twice the present age
of Anjali. 25 yr ago, the ratio of the ages of Aditya and
Pa
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Anjali was 3 : 1. Find the sum of the present ages of
Aditya and Anjali.
[SBI PO (Pre) 2019]
(b) 125 yr
(d) 140 yr

(a) 150 yr
(c) 105 yr
(e) None of these

27. At present Kavita is twice the age of Sarita. Eight
years hence, the respective ratio between Kavita's and
Sarita's ages, will be 22:13. What is Kavita's present

age? [IBPS Clerk 2011]
(a) 26 yr (b) 18 yr
(c) 42 yr (d) 36 yr

(e) None of these

28. The age of A and Bare in the ratio of 5:7. Five years
ago, their ages were in the ratio of 5:8. Their respective
present ages (in years) are

[SSC CPO 2019]
(a) 10and 14 (b) 20 and 28
(c) 25and 40 (d) 15and 21

29. The ratio of the ages of father and son is 8: 1. Father
is 6 yr older than mother. The ratio of the ages of the
son and mother is 1:7. Find the age of the father.

[LIC AAO Pre 2019]
(a) 56 (b) 42
(c) 36 (d) 34
(e) 48

30. Product of the ages of A and Bis 65 and their sum is
18. What is the difference in their ages?
[Delhi Police MTS 2017]
(b) 9yr
(d)11yr

(a) 8yr
(c) 10 yr

31. A father's age is three times the sum of the ages of
his two children, but 20 yr hence his age will be equal
to the sum of their ages. Then, the father's age is

(RRB Clerk (Pre) 2017)
(a) 30 yr (b) 40 yr
(c) 35 yr (d) 45 yr

(e) None of these

32. At present, Ron is eight years younger to Emma.
Harry is two years younger to Emma. If the respective
ratio between the present age of Ron and that of Harry
is 3: 4. What is Harry's present age?

(IBPS SO 2016)

(a) 20 yr (b) 8 yr
(c)12yr (d) 24 yr
(e) 18 yr

Pa
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